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a b c
V(V=xbac)

R o
foug =3 " =1 -t
A (HEf) | 2.00 a 3.00 b 4.60 c N
A (KLf) | 2.00 a 3.00 b 4.60 c \
B 400 [ 2a [3.00]| b 460 | ¢ 2V
C 2.00 a 6.00 | 2b | 4.60 | ¢ 2V
D 2.00 a 3.00 | b 930 | 2¢ | 2V
E 400 | 2a | 6.00 | 2b | 460 | ¢ 4V
F 400 | 2a | 300 | b 930 | 2¢ | 4V
G 2.00 a 6.00 | 2b | 930 | 2¢ | 4V
0.1cm H 4.00 | 2a | 6.00 | 2b | 930 | 2c | 8V

14. 306mM20cI. 30cm

2.
6.20cm
14.30cm
9.30cm
a b c
7a 2b 2c
0. 1cm

by = = [IEE

2.00 3.00 4.60 2

4.00 3.00 4.60 1

2.00 6.00 4.60 1

2.00 3.00 9.30 1

2.00 6.00 9.30 1

4.00 6.00 4.60 1

4.00 3.00 9.30 1

4.00 6.00 930 1 (1) 27V (

27abc)

D2 7xabx ¢ @ax 2 7bc
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@ax bx 27 cdH9 &« 3Ix ¢
®»9 & bx 3c®»3 & 9x ¢
MDax 9x 3¢c®3 & bx 9¢

@ax 3x 9¢c @3 & 3x 3¢ 3.
(1) 8
14. 30 [ | 3 & 3k
10 3¢ 3a 3k 3c
3a 6. 208 9.30@Em 3 3kxxkc 3&x3lx2c
14. 30cm 3 &
(2) 28V 3k c 9V Xxa3 Ix 2 c
18V
7 2 2c 7a 14.
30cn2b 6. 20C2mn [ ] c
9. 30cm A B C E 2c D
F G H
3x 3D
[ ] A
B C E 9V D F G
a (2.0cm) b (3.0cm) ¢ (4.6cm) H 18V
1 6.20 9.30 14.30
2 6.20 14.30 9.30 a
3 9.30 6.20 14.30
4 9.30 14.30 6.20 2 a b 2b
5 14.30 6.20 9.30
6 14.30 9.30 6.20
9V 18V
27V3ax 3k
3c a 2ax b 2bx ¢
a (2.0cm) b (3.0cm) c (4.6cm) g 2 ¢
1 3a 3b 3¢ 27V
2 3a 4b 2¢ 24V 3a3b 3c
3 4a 2b 3¢ 24V
4 4a 4b c 16V
5 7a 2b 2¢ 28V
6 7a 3b c 21V A H
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245

2¢c C EE—
5 D A
2a
; B b —
F F
E 2b
H E E
A F
B C E D F G H N N
2) 9
E D| E
[ ] 7Tx 2k 2c
G ax 2k 2¢c H
2a 2k 2c A A’
D C
7 2k 2c G ax 2b
x 2cC H 2 2k 2c B
4 x 2 Ix B A' A
2cC 7& 2 2c ax 2b
x2c2a8a2bB2cd4az2b2c F
E 2a2b
X C F 2 bx 2c IF
D
Al E
F
- _
D ax bx 2 ¢ D | C
D
A
A A E

B C
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7T& 2kx 2¢c 89
45 2k 2c 3& 2Ix 2¢c 3 & 2k
2c 2x 3x 2c

G H

Skemp9o87

Skemp
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0.0,02a,2b,2C H
2a,2b, 23a, 3b, 3c A
c //T (3a,3b,3c)
g//,
ey (2a,2b,2¢)
b
H
90
N ~ a
(0,0.0)
(a+b)* =a®+3a°b +3ab® +b°
a+b
a b
a p b
a
realistic mathematifl]|s
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a a x?y%- x%- 4y* +2xy+9

( ) ( ) (a+b)* =a®+2ab+b?

b (a- b)*=a®- 2ab+b*

a’-b*>=(a+b)(a- b)

( ) (a+b)?- (c+d)?
(ab)?
(cxd)?
(a+b+c)’ =a®+3(a’b+a’c+b’c+ab® +ac® + (¥®y? £ 6xy+9)  (x*+4y*+4xy)
be?) +6abe (xv£3)*  (x£2y)°
Xy (y+3)? -
(x+2y)? (xy+3- x-
2y)(xy +3+x+2y)

8 3

l6va21vVva24V

( 10)
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